Czech Questionnaire 2021

I CZECH Registered Creh tatistcl Offce
_ &sU &V: 162/21 Na padesatém 3268/81
STATI STICAI‘ 100 82 Prague 10

on: 10.12.2020

_ OF FICE Czech Republic

Labor force sample survey

Complete and abbreviated questionnaire for 2021 (1st and 2nd - 5th wave)

Designation:
b saved once a year
oo saved every two years
Filter Mark the question Question and answer Code Ow;,v]éSt
everybody Okres District autom.
everybody Pagina Pagina autom.
= everybody SO Number addition circuit autom.
8 everybody CisBytu Sequence number of flat in the selected SO autom.
g- everybody Obec Municipality autom.
(J) everybody ObdZar Quarter of inclusion of Census Area autom.
= everybody Vina Wave of survey autom.
i=) everybody Modul Current module in the questionnaire autom.
c everybody RefRok Reference year autom.
-2 everybody RefTyd Reference week 1-52
g Result of survey (flat)
E Unfinished interview, 1
= Interview done 11
= Examined basis - module is missing 2
Refusal - unwillingness to provide information 21
Unable to participate 22
Language barrier 23
Refusal - Other reasons 24
No one home 31
everybody Vysl Vysl_LG Unable to contact - no one answers the door 32
Uncommon reasons 33
Absence of questioner 34
Flat abandoned 41
Recreational facility 42
Administrative building 43
Flat does not exist 44
Entire building does not exist 45
Address does not exist 46
POCOSB> 1 PocOsB Number of persons who usyglly living in the flat 0-70
(incl. persons from the last visit)
Do these persons live in the same household (do they run the
household together)?
everybody HospSpol Yes 1
No 2
everybody PocDom Number of households in the dwelling (including households from the 1.5
last wave)
everybody CisDomB Sequence number of household autom.
everybody CisNavD Order number of visit in household 1-5
everybody DatSet Date of interview DD.MM.YYYY
Result of the survey (household)
Interview 1
Interview done 11
Refusal - unwillingness communicate information 21
Unable to participate 22
Language barrier 23
Refusal - Other reasons 24
everybody VysIHD NO one home 31
Unable to contact - they do not open door 32
Extremely reasons 33
Moved out - Czech Republic 51
Moved out - collective household 52
Moved out - foreign country 53
No one stayed alive 54
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Filter Mark the question Question and answer Code iy disi
wave
Way of interviewing
Personally with computer 1
everybody Zpusob By phone with computer 2
Personally to paper questionnaire 3
By phone to paper questionnaire 4
everybody PocOD Number of persons in household 1-15
everybody Ccos Sequence number of person autom.
Pe everybody Popis Name of person (voluntary) description
-Z Specify relationship to the person at the head of the households?
(@]
= Person at the head of the household 1
g Husband/wife / partner the head of the household 2
(@] Child head of household (whose her husband/wife, life partner) 3
(;, Son-in-law / daughter-in-law the head of the household 4
e} everybody VzOCD Grandson / granddaughter the head of the household 5
_8 Father / mother; Father-in-law / mother-in-law the head of the 6
2 household
g Grandfather / grandmother the head of the household 7
< Brother / sister the head of the household 8
'8 Another related person 9
3 Another unrelated person 10
c .
o Person's survey status
%]
g_ Person being surveyed face-to-face or proxy 1
—
8 everybody Status Person rejects to answer and proxy cannot be applied 2
3]
b Person has moved out 3
=
[J] .
*g Person died 4
T Gender of person
% everybody Pohl Man 1
' Woman 2
g everybody RokNar Year of birth? YYYY
=] everybody MesNar Month of birth? MM
S Has s/he had birthday already this year?
he]
o Yes (The date falls between 1.1. And the end of the reference week) 1
= everybody Naroz
= No (The date falls from the end of the reference week to 31 December.) 2
everybody Vek Age of surveyed person autom.
Marital status
Single 1
everybody RodStav Married, registered partnership 2
Widowed, registered partnership terminated by death 3
Divorced, registered partnership terminated by a decision 4
Sequence number of his/her partner
everybody Partner 0-15
Were you born inthe Czech Republic?
everybody NarCR Yes (pre-filled) 1
No 2
NarCR =2 ZemNar Country of birth code
Do you have citizenship of the Czech Republic? (nationality)
everybody PrisICR
Yes (pre-filled) 1
No 2
PrisICR = 2 StPrisl What is your nationality? (Choose a code) code
Does surveyed person live in the household at least with one of the
2
bod Rodi parents?
everybody odice Yes 1
No 2
Rodice = 1 Otec Spemf_y the. sequence number father's number of the surveyed person 1415
who lives in a common household
_ Did your father born in the territory CR?
vek<=74 ZemNarO_CR Yes 1
No 2
ZemNarO_CR =2 ZemNarO In which the country was born your father? code
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least 50% of pay

Filter Mark the question Question and answer Code iy disi
wave
Rodice = 1 Matka Spemf_y the. sequence number mother's number of the surveyed person 1415
who lives in a common household
_ Did your mother born in the territory CR?
Vek<=74 ZemNarM_CR Yes 1
No 2
ZemNarM_CR =2 ZemNarM In which the country was born yours mother? code
Did you stay long term, ie more than 12 months, out of CZ?
Vek> 1 Imig Yes 1
No 2
In which year you have moved in or returned to the Czech Republic? YYYY
Imig=1 ImigRok
Imig = 1 and Country of yours previous residence? code
[(RefTRok-ImigRok) ZemPredB
<010]
The main reason of yours arrival to the Czech Republic? i
Job (found before migration) 1 §
Job (not found before migration) 2 oo &
. o
ZemNar <>CR a MigDuv Family reasons 3 <
Vek=15-74 9 Education or training 4 J
International protection or asylum 5 from 2021 S
Retirement 6 E
Other reason 7 >
everybody DomPuv Number of former household 1-5
everybody DomCil Number of household, where person is being moved 1-5
15+ CisNavO Order number of visit at the person 1-5
15+ OsobaOdp Sequence number of person who gives the answers 1-15
= Did s/he work at least 1 an hour in the main job for a pay or reward
*g (eg a helping family member) or with the aim of making a profit in the
= 15+ Prac1lH reference week?
% Yes 1
2 No 2
=
8 Has s/he job in which in the reference week was not present?
2 PraclH =2 PracOH ) ) -
0 Yes (including maternal, parental vacation) 1
No 2
Has s/he in this job guaranteed return to work within 3 months or
i i 1) ?
PracoH = 1 NavrPrac receives from his employer more lthan §0A: of pay? .
Yes (including maternal, parental holidays) 1
No 2
What was the reason for his/her absence?
Maternal holiday 1
Parental leave (applies to employees) 2
Holiday 3
Compensatory time off (flexible working hours) 4
NavrPrac = 1 NeprDuv Incapacity for work for illness and injury 5
Adverse climatic conditions 6
Lack of work for economic or technical reasons 7
Working dispute (strike) 8
Study or training 9
Other reasons (personal, family, etc.) 10
Period off-season 11
Fulffills regular tasks associated with his/her job even out of season?
NeprDuv = 11 Sezona
Yes 1
No 2
It assumes that the length of his / her the absence exceeds 3 months
(from start to expected return to work)?
No 1
NeprDuv = 6-8,11 or . ] . . _—
pNavrPrac Z Navrat3m Yes, but the respondent receives (including social contributions) at least 2
50% of pay
Yes, and respondent does not take (including social contributions) at 3
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Economic activity

Filter Mark the question Question and answer Code iy disi
wave
(PraciH =1or Did s/he changed his/her job during the last quarter?
NeprDuv = 1,3-10 or ZamZmena
Sezona = 1) and Yes 1
CisNavO> 1 No 2
When did s/he start working in the current job or as a self-employed
PraclH =1 or person?
NeprDuv = 1,3-10 or DatStart DD.MM.YYYY
Sezona=1
What was the main method found his/her current job?
Employment Department or its website 1
Private intermediaries work 2
PraciH = 1 or Direct contacting employers 3
NeprDuv = 1,3-10 or Friends, relatives or acquaintances 4
- MetNalez : .
Sezona =1 and Advertisements 5
RefRok-DatStart <= 7 Extension of qualification (internships, studies, current practice 6
Direct contact from the employer 7
Participation in selection procedure 8
Beginning business or other way 9
What has s/he position in its current main job?
PraclH=1or Employee 1
NeprDuv = 1,3-10 or ZamPost Companion, executive 2
Sezona =1 Self-employed with employees 3
Self-employed without employees 4
Helping family member 5
Does s/he have subordinates employees in his/her current job?
ZamPost = 1,2 Podrizen Yes 1 .
No 2
How many persons work at his/her workplace? Also include the
surveyed person in the number.
9 and less 1
ZamPost = 1,2,3,5 PracLidi 10 to 19 persons 2 .
20 to 49 persons 3
50 to 249 persons 4
250 and more persons 5
PracLidi = 1 PracLidi9 Specify exact number people in the workplace (value 1-9) 1-9 .
PracH =1 or Describe main activity of local unit company or organization, where
NeprDuv = 1,3-10 or ZamNACEt Y pany 9 ! text
T do you work.
Sezona =1
PraclH=1or Select the type of search in CZ-NACE.
NeprDuv = 1,3-10 or ZamNACEXx According to description of activities 1
Sezona =1 By name government institution 2
PraclH =1 or
NeprDuv = 1,3-10 or ZamNACE Select the CZ-NACE code. code
Sezona=1
PraclH =1or S L . -
?
NeprDuv = 1,3-10 or ZamISCOt Wha_t is h|s/he_r curren_t main job (profession)? Describe in as much text
detail as possible the job he does.
Sezona=1
PraclH =1 or
NeprDuv = 1,3-10 or ZamISCO Select the CZ-ISCO code. code
Sezona=1
PraclH =1or Does s/he work on territory of the Czech Republic?
NeprDuv = 1,3-10 or ZamCR Yes 1
Sezona=1 No 2
ZamCR =1 ZamOkr Region of place of work code
ZamCR =2 ZamStat Country of place of work code
Selected countries
according to the ZamObec Locality of place of work (or a nearby larger village). text
Eurostat code list
How many clients (customers, customers) have you had for last 12
months?
ZamPost = 3,4 Klient 1 (':I|ent i .
2 to 9 clients 2
10 or moreand clients 3
none client 4
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Economic activity

Filter Mark the question Question and answer Code iy disi
wave
PraclH =1 or Was the employment Department shared in finding his/her current
NeprDuv = 1,3-10 or employment?
Sezona = 1 and Providing information about vacancies, arranging contact with the
MetNalez <> 1 and PodilUP employer, information on the official board or the website of the .
DatStart - Date> 1 employment office.
monlch and ]I?atStart - Yes 1
ate <1 year
i No 2
PraclH =1 or In his/her main job or only job working on
NeprDuv = 1,3-10 or PlnyCast .
Sezona= 1 . . full time 1
part time (shorter working hours) 2
What is the reason for working part time?
S/He can't find it full time work 1
This type of employment Available only part-time 2
PlnyCast = 2 From health reasons 4
CastDuv Graduate from professional or school education 5
Take care about a child or adult requiring care 6
From others family reasons 7
From others personal reasons 8
From others reasons 10
Does s/he have a contract with job agency that rents him/her to another
ZamPost = 1,2 PersAgt G 0
Yes 1
No 2
What type of job contract does he have in his main job?
Contract for a period indefinite 1
Fixed term contract, 2
ZamPost = 1,2 TypSml An agreement (on working activities, on implementation work) 3
Contract concluded until the end of education (apprentices, interns, 4
research assistants)
Work without contract (oral) and others 5
What type of agreement is it?
Agreement on work activites 1
TypSml =3 Dohod .
ypsm ohoaa Agreement on execution of work 2
S/He doesn't know 3
TypSml = 2-5 ZacSmlUr Date of beginning of his/her contract/agreement DD.MM.YYYY
TypSml = 2-5 KonSmlUr Date of end of his/her contract/agreement DD.MM.YYYY
What is the total duration of this contract or agreement?
less than 1 month 1
from 1 to less than 3 months 2
ZacSmiUr or from 3 to less than 6 months 3
- DobSmlUr from 6 to less than 12 months 4
KonSmlUr is blank
from 12 to less than 18 months 5
from 18 to less than 24 months 6
2 years to less than 3 years 7
3 years and more 8
Why s/he has contract for a fixed period?
Couldn't find it work with another type of contract 1
Didn't want a job with another type of contract - this type suits him / her 2
This is a contract for the duration of the probationary period 3
TypSml = 2-5 DuvSmlUr 8 . .
Apprentice preparation 4
Non-apprenticeship training (trainees, trainees, assistant researchers 5
etc.)
This type of employment Available only with a fixed-term contract 6
Other reasons 7
Does s/he have an employment contract or agreement agreed a
certain number of hours?
ZamPost = 1,2 SmiHod Yes 1
No 2
I don't know 3
How many hours per week is it?
SmiHod = 1 SmlHodPoc Specify number of hours| 0.5-95.0
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Economic activity

Filter Mark the question Question and answer Code O:JZV]:t
Who mostly decides about his/her working hours?
PraclH =1 or Decides alone 1
NeprDuv = 1,3-10 or PracDoba Decides for himself / herself within flexible working hours 2 .
Sezona=1 Decides employer, organization or the customer 3
Decides another side 4
(PraclH = 1 or NeprDuv
=1,3-10 or Sezona = 1)
and (SmiHod = 2,3 or
TypSml =5 or ObvHod How many hours does s/he usually work in week in his main (or only) 1.0-95.0
SmIHodPoc <> 1-95) or job? Enter to one decimal place. : :
ZamPost = 3-5
PraclH =1or Lo . -
NeprDuv = 1,3-10 or SkutHod How many hours does s/he in his’her main (or only) job in the 0.0-95.0
T reference week worked out? Enter one decimal place.
Sezona=1
(ObvHod = 1,0-95,0) :/I:/hat is trl1le7reason for working more hours in the reference week
and (SkutHod1 = 0,1- an usualy: .
DuvHodV Overtime 1
95,0) and (SkutHod> h . X
Variable working hours (eg long week, shift work) 2
ObvHod)
Other reasons 3
What is the reason for working less hours in the reference week
than usually?
Public holiday or a day of rest 1
Holiday to recover 2
Variable working hours (eg short week, shift work) 3
Lack of work from techn. or ekon. reasons 4
(ObvHod = 1.0-95.0) Disease or injury 5
_ Adverse climatic conditions 6
and (SkutHod1 = 0.0- . . .
95.0) and (SkutHod DuvHodM_z o Entrylto job or change of job durlng the wgek 7
<ObvHod) Termination of employment in the middle of the week without starting 8
anewone
Study free time 9
Maternal holiday| 10
Strike 11
From personal or family reasons 12
Other reasons (including arrival and going on the parental leave) 13
PraclH=1or .
NeprDuv = 1,3-10 or How many days vacationdrew? State the half-day absence as 0.5.
_ DnyDovol
Sezona = 1 and
DuvHodM =2
Enter the number days 0.5-5
PraclH =1 or How many days s/he was not at work due to illness? State the half-
NeprDuv :_1,3'10 or DnyNemoc day absence as 0.5.
Sezona = 1 and
DuvHodM =5 Enter the number days 0.5-5
How many days s/he was not at work? State the half-day absence as
DuvHodM = 1,3,4,6- . i Y
DnyAbsJin 0.5.
13
Enter the number days 0.5-5
DuvHodV = 1 PresCHod How many overt|mg hours dld. s/he work in the main job during of 0-95.0
reference week (paid and unpaid)?
PresCHod> 0 PresPHod How much of it was paid? 0-95.0
_ Does s/he wish s/he worked more hours than currently worked in all
PraclH =1 or his/her jobs together?
NeprDuv = 1,3-10 or PraniVic Isiher | 9 ’
_ Yes 1
Sezona=1
No 2
In which way?
As the second (other) job 1
PraniVic = 1 PraniZp In different main job 2 .
Only within the current main job 3
Any above way or a combination 4
PraclH =1 or
NeprDuv = 1,3-10 or PraniHod How many hours a week would s/he wish to work total in all jobs? 0-95.0 .
Sezona =1
PraclH =1 or Has s/he worked during last 4 weeks?
NeprDuv = 1,3-10 or Prac4T v
Sezona=1 es 1
No 2
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Economic activity

Filter Mark the question Question and answer Code iy disi
wave
(PraclH =1 or Did s/he work in last 4 weeks in his/her main job at home?
NeprDuv = 1,3-10 or P .
Sezona = 1) and
Prac4T <> 2 i No 1
Yes, in less than half days worked 2
Yes, at least in the half of days worked 3
(PraclH =1 or
NeprDuv = 1,3-10 or Did s/he work in last 4 weeks in his/her main job shift work?
Sezona = 1) and PracSm oo
Prac4T <> 2 and
ZamPost = 1,2
Yes 1
No 2
Did s/he work in last 4 weeks in his/her main job some time in the
(PEEils] =1l o evening (i.e. from 7 pm to 11 pm)?
NeprDuv = 1,3-10 or g (e p pm):
_ PracVec oo
Sezona = 1) and No 1
Prac4T <> 2 5
Less than in half days worked 2 g
At least in the half days worked 3 §
N
Did s/he work in last 4 weeks in his/her main job some time in the night §
(PraciH =1 or X «
_ (i.e. from 11 pm to 6 am)? =
NeprDuv = 1,3-10 or =
PracNoc o &
Sezona = 1) and No 1 N
Prac4T <> 2 @
Less than in half days worked 2 g
At least in the half days worked 3
Did s/he work in last 4 weeks in his/her main job some time on
(PraclH =1 or
Saturday?
NeprDuv = 1,3-10 or
_ PracSob oo
Sezona = 1) and N 1
Prac4T <> 2 o
1 Saturday (at least one hour) 2
At least 2 Saturdays 3
Did s/he work in last 4 weeks in his/her main job some time on
(PraclH =1 or
Sunday?
NeprDuv = 1,3-10 or
_ PracNed oo
Sezona = 1) and No 1
Prac4T <>2 1 Sunday (at least one hour) 2
At least 2 Sundays 3
Did s/he have yet another job beside the main job in the reference
PraclH=1or week (incl. business)?
NeprDuv = 1,3-10 or Zam2 No, has only 1 job 1
Sezona=1 Yes, has two jobs 2
Yes, has three and more jobs 3
What is his/her position in the second job?
Employee 1
Zam2 =23 Zam2Post Compar_uon, executive 2
Self-employed with employees 3
Self-employed without employees 4
Helping family member 5
zam2=23 Z9NACEL Describe m_aln act|vnt_y of local unit company or organization where text
he works his second job?
Select the type of search in CZ-NACE.
Zam2 = 2,3 Z2NACEX according to description of activities 1
by name government institution 2
Zam2 = 2,3 Z2NACE Select the CZ-NACE code. code
Zam2=23 721SCOt Wha? is h|s/h_er second job (profession)? Describe in as much detail as text N
possible the job he does.
Zam2 =2,3 Z2ISCO Select the CZ-ISCO code. code .
Does s/he work in his/her second job every week the same number of
_ hours?
Zam2 =23 PravTyden2 Yes 1
No 2
How many hours does s/he usually work in week in his second job?
Zam2 =23 Z20bvHod
Number of hours 1-95.0
How many hours has s/he worked in the reference week in his/her
Zam2 =23 Z2SkutHod second job?
am2 = 2, utHo 0-95.0
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Economic activity

Filter Mark the question Question and answer Code iy disi
wave
PraclH=1or Is s/he looking for another or additional job?
NeprDuv = 1,3-10 or HledJine
Sezona =1 Yes 1
No 2
What is the reason? Looking for other main job because:
there is risk or certainty of loss / termination current main job 1
current considers employment transitional 2
HledJine = 1 Fieeilia wants better workipg conditions (eg achieving h_igher earpipgs, 3 .
working hours, travel time to work, job description)
wants to work with longer working hours 4
wants to work with shorter working hours 5
there are other reasons 6
looking secondary (other) job 7
_ Did s/he has sometimes employed or did business?
PracOH = 2 or . .
_ Yes, regular ongoing activity at least 6 months 1
NeprDuv = 2 or Pracoval v | , | short-t K (t 2
NavrPrac = 2 es, only occasional short-term work (temps)
No 3
Pracoval=1,2a
(PracOH :_2 or The year of completion the last employment.
NeprDuv = 2 or
ExZamRok YYYY
NavrPrac = 2)
Pracoval = 1,2 and !
NeprDuv = 2 The year of start parental leave (after maternity leave).
Pracoval =1,2 a
(PracOH = 2 or The month of completion the last employment.
NeprDuv = 2 or
ExZamMes MM
NavrPrac = 2)
Pracoval = 1’_2 and The month of start parental leave.
NeprDuv = 2
Pracoval=1,2a
(PracOH :_2 or The day of completion the last employment.
NeprDuv = 2 or
ExZamDen DD
NavrPrac = 2)
Pracoval = 1,2 and
NeprDuv = 2 The day of start parental leave.
What was the reason for leaving last job?
Dismissed 1
Temporary employment it's over 2
Retirement (old age) 3
Pracoval = 1,2 and ExZamDuv Health reasons (including disabled retirement) 4
RefRok-ExZamDat <8 Began study 5
Alone for a reason care for a child or another person (incl. RD) 6
Alone from others family reasons 7
Alone from personal reasons 8
From other reasons 10
What was his/her position in the last job?
Pracoval = 1,2 and c . Emploi/_ee g
RefTRok-ExZamDat ExZPost ompanion, executive
<8 Self-employed with employees 3
Self-employed without employees 4
Helping family member 5
Pracoval = 1,2 and Describe main activity of local unit company or organization, where
RefTRok-ExZamDat EXZNACEt he/she works his/her last job. text
<8
Pracoval = 1,2 and Select the type of search in CZ-NACE.
RefTRok-ExZamDat ExZNACEXx according to description of activities 1
<8 by name government institution 2
Pracoval = 1,2 and
RefTRok-ExZamDat EXZNACE Select the CZ-NACE code. code
<8
Pracoval = 1,2 and
RefTRok-ExZamDat ExZISCOt What did s/he do at work? Specify job name. text
<8
Pracoval = 1,2 and
RefTRok-ExZamDat ExZISCOx Select the CZ-ISCO code. code

<8
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Economic activity

Filter Mark the question Question and answer Code O\?vlz)l,v]:t
Was s/he seeking any paid job (incl. self-employment) during last 4
weeks?
Yes 1
PracOH = 2 or N 2
NeprDuv = 2 or HledZam o
NavrPrac =2 Found employment that starts later (within 3 months. from finding) 3
Found employment that starts later (in more than 3 months. from 2
finding)
Found employment that started until after RW 5
Why s/he was not looking for a job?
Expect to re-enter to work 1
Believe, that will not find suitable work 2
Retirement (old age, disabled) 3
Health reasons 4
HledZam = 2 HledNDuv Due education (learning, study, other) 5
Due child care or adult person requiring care 6
Others family reasons 7
Personal reasons 8
Does not want or does not need work 9
Others reasons 10
HledZam = 1 or He's looking employment as
HledJine = 1 g employ!
HledZam = 3,4,5 HledPost Found employment as
employee 1
businessman (or helping family member) 2
will accept any employment 3
HledPost=1,3 a
(HledZzam =1 or In terms of work load it should be job
HledJine = 1)
HledPost = 1,3 and R .
HledZam = 3,45 In terms of work load it will be job
HledUv on full working time 1
on full working time (event. accepts i shorter) 2
on shorter working time (event. accepts i full) 3
on shorter working time 4
cannot specify, whether it should be full or shorter working hours 5
H:jldi’jf“ :_llor Since when has s/he looked for job?
SORNe.T Hledod DD.MM.RR
HledZam = 3,5 Since when had s/he looked for job?
HledOd unfilled a
(HledZzam =1 or How long has s/he looked for job?
HledJine = 1]
HledOd unfilled and .
2
HledZam = 3,5 How long had s/he looked for job?
less than 1 months 1
HledDob from 1 to less than 3 months 2
from 3 to less than 6 months 3
from 6 to less than 12 months 4
from 12 to less than 18 months 5
from 18 to less than 24 months 6
2 years to less than 4 years 7
4 years and more 8
HledZam = 1 or . . ) . .
2
HiedJine = 1 Is s/he looking a job through employment office or their website?
HledZam = 3,5 HledMetA Looked for a job through employment office or their website?
Yes 1
No 2
HledZam = 1 or . . . .
?
HledJine = 1 Is s/he looking a job through private employment agencies?
HledZam = 3,5 HledMetB Looked for a job through private employment agencies?
Yes 1
No 2
HledZam = 1 or . - .
s
HiedJine = 1 Does s/he contact direct employer (visits businesses)?
HledZam = 3,5 HledMetC Did he contact direct employer (visited businesses)?
Yes 1
No 2
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Economic activity

Usual position

Filter Mark the question Question and answer Code iy disi
wave
HledZam =1 or . . . .
5
HiedJine = 1 Is s/he looking a job through relatives or acquaintances?
HledZam = 3,5 HiedMetD Looked for a job through relatives or acquaintances?
Yes 1
No 2
HledZam = 1 or . . . .
2
HledJine = 1 Is s/he looking a job using ads (except UP) or to them corresponds?
HledZam = 3,5 HiedMetE Looked for a job using ads (except UP) or to them answered?
Yes 1
No 2
(HledZam = 1 or I? slhe Iookmg'tpremldstfals (Iar?dl) and eguflpmsnt Qr handles flc;m;al
HledJine = 1) and HiedMetF (licenses, permits) and financial security for business activity?
HledPost = 2,3 Yes 1
No 2
HledZam = 1 or .
?
HledJine = 1 It places or updates CV on the internet?
HledZam = 3,5 HledMetCV Placed by or updated CV on the internet?
Yes 1
No 2
HledZam =1 or .
5
HiedJine = 1 Is s/he looking employment another way?
HledZam = 3,5 HledMetOst Looked for employment another way?
Yes 1
No 2
Although he is not looking for a job, would like to work ?
HledZam = 2 NehlPral Yes, would like to work 1
No, does not want to work 2
What is the main reason, why he doesn't want to work.
It's in retirement (old age) 3
Iliness, incapacity for work or disability pension 4
Nehlpral = 2 DuvNPrac Education (Iea!'nmg, study,l olthfer) 5
Nursing responsibilities 6
Family reasons 7
Personal reasons 8
Other reasons 10
SearchZam_: 1.4 or If suitable work appears (or suitable arrangement of current job) is s/he
NehlPral = 1 or S
S able to start within 14 days?
PraniVic = 1
HledZam = 3, 5 Hned Is s/he able to start job, that s/he has found, within 14 days?
Yes 1
No 2
Why s/he is not able to start within 14 days?
Can not immediately leave current job (due to notice period) 1
Due to illness or incapacity for work 4
Finish school or apprenticeship, training, retraining course 5
Now =2 HnedNDuv PP P 9 9
Nursing responsibilities 6
Family responsibilities 7
Personal responsibilities 8
Other reasons 10
What had s/he done before s/he started seeking a job?
Worked 1
Preparing for a profession at school or SOU 2
HledZam = 1,3,4,5 PredHled At home 3 o
Pensioner (old age or disabled) 4
On maternal vacation or on parental vacation 5
Other 6
What is his/her current usual economic position?
It works (including assisting family members) 1
Unemployed 2
Pensioner (old age) 3
15+ ObvPost .
Permanently incapable of work for health reasons 4
Education (student, apprentice, other) 5
At home (including maternity and parental leave) 6
Other 7
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Filter Mark the question Question and answer Code iy disi
wave
Was s/he awarded a social security pension?
No 1
Yes, pensioners in premature old-age pension 2
15+ Duchod Yes, pensioners in proper old-age pension 3
Yes, disabled pensioner (3rd degree of disability) 4
Yes, partially disabled pensioner (1st and 2nd degree of disability) 5
Yes, other pension (eg widowed, widowered) 6
Was s/he provided with official confirmation as person with disability?
No 1
15+ and Duchod <>
45 ZdrPost Yes, partially disabled (1st and 2nd degree of disability) or 2 o
' handicapped
Yes, with more severe damage (disabled, 3rd degree of disability) 3
_ In previous questions you declared to work on part-time due to care for
CastDuv = 6 . . . §
child or disabled person. Do you work part-time because:
_ In previous questions you declared not to seek job due to care for child
HledNDuv = 6 . X X
or disabled person. Do you not search for job because:
ProfPece but the availability of care does not affect decision not to work or to 1 .
work part-time
because lacks service organization providing child care 2
because lacks service organization providing care for the sick/ 3
disabled / elderly people
because lacks service organization providing care for children and 2
the sick/ disabled / elderly people
What is the level of highest completed education?
No education, unfinished 1st grade of elementary school 0
Elementary school (completed the first 5 classes of elementary school) 1
The basic education- 2nd grade of elementary school, answer year. 2
perennial grammar schools
APPISHULES P, TUWET SELUIUAIY WILHUUL GUOE - vULAUULIAI SUIIUUIS
15+ Nejvzds providing apprenticeship certificates, vocational schools without a GCSE 3
Al Enile s bl
Complete secondary school with GCSE, superstructures, 4
conservatories with GCSE, post-graduate studies
Conservatories closed discharge 5
Higher professional (e.g. DiS title.) 6
University bachelor (Bc.) 7
Master's degree (Mgr., Ing., RNDr., MUDr., JUDr.) 8
Doctoral (Ph.D.), scientific training (CSc., DrSc.) 9
Did s/he get trained in some field (apprentice)?
NejVzdS = 3,4 VzdVyuc Yes 1
No 2
15+ W|t:c;)u;l\;e]VzdS NejVzdOt What is the field of study of highest completed education? description
15+ W|t:c;)u;l\;e]VzdS NejVzdO Select code field of education. code
= 1
o . X When did s/he receive the highest completed education? You can
T 15+ Wltho_uE)NeszdS NejvzdR also write the age at the person completed his education. The year is YYYY
S B automatically calculated.
he]
u Did s/he work during studies within training as an intern, research
= 20- i ? i i
Vek_ 20-34 and PracPraxe assistant, etc.? It does not apply to apprenticeship at school. o
NejVzdS = 3-9
Yes 1
No 2
How long this work (practice) performed?
PracPraxe = 1 DelPraxe LesstiEmd mt?nth i .
1 to 6 months incl. 2
7 months and longer 3
Was this job paid?
DelPraxe = 2 or 3 PlacPraxe Yes 1 o
No 2
Is / was s/he a student or apprentice within the school education
system (in the last 4 weeks)?
Vek=15-69 VzdForm Yes,in the referenge genod was teaghmg 1
Yes, in the reference period it was the holidays 2
Yes, distance learning 3
No 4
What is the level of education that s/he attends?
1st degree elementary School 1
2nd degree elementary schools and special years 2
of multi-year grammar schools
Learning without graduation, lower secondary without GCSE 3
VzdForm = 1,2,3 vzdForms Complete secondary schpol with GCSE, superstructur_es, 4
conservatories with GCSE, post-graduate studies
Conservatories 5
Higher professional 6
University bachelor 7
University master's degree 8
Doctoral, scientific preparation 9
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Filter Mark the question Question and answer Code O\T\/I;,v]:t
Currently, does s/he attend high school or postsecondary education,
which is meant as a preparation for the University (so-called zero
VzdFormS = 4 Vseobec class)?
Yes 1
No 2
Did s/he attend seminar, workshop or private lesson with lecturer in
?
Vek=15-69 VzdNform |t 1ast 4 weeks?
Yes 1
No 2
g Why did s/he attend this education?
"% VzdNform =1 VzdNformDuv Working reasons (acquired knowledge / skills are / will be part of the 1
S work)
E Personal reasons 2
VzdNform = 1 VzdNformOt Specify field this course, seminars, workshop or private lesson. text .
VzdNform = 1 VzdNformO Select a non-formal education field code. code .
When did it take place this course, seminar, workshop or private
lesson with the lecturer?
Only inpaid working hours 1
VzdNform = 1 VzdNformDob Mostly inpaid working hours 2 .
Mostly outpaid working hours 3
Only outside paid working hours 4
At the time of education did not have a job 5
VzdNform =1 NformHod How many hours did s/he attend in last 4 weeks? 1-500
Is s/he registered at the employment office?
Vek=15-74 RegUP Yes and recen\{es support !n unemployment 1
Yes, but does not receive support in unemployment 2
No 3
Filter Mark the question Question and answer Code Oc‘/l:vf:h
Please indicate in which interval is his/her gross monthly income who
took on his/her main job?
up to 20,000 CZK 1
20 001 to 25 000 CZK 2
ZamPost = 1,2 Prijem 25 001 to 30 000 CZK 3 .
30 001 to 36 000 CZK 4
36 001 to 45 000 CZK 5
45 001 to 60 000 CZK 6
60 001 CZK and more 7
Filter Mark the question Question and answer Code O\?\/Igv?t
What was his/her main situation a year ago?
Worked (including assisting family members) 1
Unemployed 2
15+ JRSt _ Pensioner (old age or disabled)) 3 .
Permanently incapable of work for health reasons 4
Education (student, apprentice, other) 5
Household (including maternity and parental leave) 6
Other 7
What was his/her position at work a year ago?
% Employee 1
N JRSit= 1 JRPOst Compar'non, executive 2 N
8 Self-employed with employees 3
Z* Self-employed without employees 4
= Helping family member 5
o - - — - —
2 JRSit= 1 JRNACET Describe malun ac'tlvny of local unit company or organization, where text N
g he worked his main employment before year?
-‘U—" Select the type of search in CZ-NACE.
JRSit=1 JRNACEX according to description of activities 1 .
by name government institution 2
JRSit=1 JRNACE Select the CZ-NACE code. code .
Did s/he live in Czech republic a year ago?
15+ JRCR Yes 1 o
No 2
JRCR=1 JROkres Select district (region) residence a year ago. code .
JRCR=2 JRStat Select country residence a year ago. code .
JRCR=2 JRNazStatu Name of the country a year ago autom .
JRCR=2 JRObec Specify locality (or a nearby larger municipality) residence before year. text .
everybody KonecHD End of household
everybody Soubor Subset autom.
everybody CisTaz Questioners' number autom.
everybody Poznamka Note text
everybody Konec End of the questionnaire
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